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QUESTION 1

Which option of the loadlmage action can be used to load images in the subdirectory tree of a directory?
A. recurse

B. reload

C. subdirs

D. repeat

Correct Answer: D

QUESTION 2

Which statement is TRUE about the QN modifier as it is used in the LITI language?

A. The @N modifier is a NOT (negation) modifier

B. The @N modifier is available in all concept rules

C. The @N modifier expands a noun term to include all noun stemmed variants of the term
D. The @N modifier specifies the starting byte location N where a word should be found

Correct Answer: A

QUESTION 3

Which statement describes a situation in which a bi-directional recurrent neural network is a better option than a
unidirectional network?

A. The data at any given point in time depends on both the previous and subsequent elements of the sequence

B. The data at any given point in time depends only on the previous elements of the sequence

C. The data at any given point in time is independent of both the previous and subsequent elements of the sequence
D. The data at any given point in time depends only on the subsequent elements of the sequence

Correct Answer: A

QUESTION 4
Which feature is enabled in the default settings of the Text Parsing Node?

A. misspelling detection
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B. synonym list
C. minimum number of documents
D. start list

Correct Answer: A

QUESTION 5

("Not*: This is an interactive item Follow the instructions to answer the question Scroll bars may appear if the windows
are too small Each window can be re-sized by dragging on the 5 circles located between windows) Complete the
statement on the right with the options on the left.

Select and Place:

Cross-corelation

Convolution Answer Area
Linear operaton
Nonlinear operation
Scale-invanant operaton
Correct Answer:
Answer Area

Convolution

Nonlinear operation
Scale-invanant operaton
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The combination function used by a convolution filter is a | ]

which is considered to be a |

The combination funcion used by a convolubion filter is a Linear operaton

which is considered to be a Cross-comrelation ]
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